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401 Al HIYL S CHYI 229,000 229,000
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405 AHaHE = 2,300 1,300 1,000
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HHIEAMY 170,000 215,000 /45,000
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= 16,000
401 AlZHIZ S 0HbI 22,667 22,667 0
= 6,667
[Ea 16,000
01 A28l 22,667 22,667 0
OE2s= ZHIAY 22,667
s 6,667
s 16,000
A=ZHIAY 50,000 50,000
401 Al HIZL 201 50,000 50,000
01 Al&H| 50,000 50,000
O=H= & 1= FHIAE 50,000
e FH LRAS MAHAE 80,000 80,000 0
401 AlEHIZ S 0HbI 80,000 80,000
01 AlZH| 80,000 80,000
O =t HiRHS MAHAIY 80,000
AEXIAFE 2 AR 1,000 1,000 0
201 fet=3| 1,000 0 1,000
01 At 22|l 1,000 0 1,000
OLXIEE At=2te| 5 =2 S 1,000
=L XM (AE)(HEAY) 400,000 640,000 A240,000
= 260,000
= 140,000
401 Al HIZL 201 400,000 640,000 A.240,000
= 260,000
[Ea 140,000
01 Al&H| 390,000 624,000 234,000
o=Zdxgzel(d) 362,500
S 235,625
o 126,875
OsZxdzel EAHI(HE) 27,500
< 17,875
T 9,625
02 Zeltl 10,000 16,000 26,000
Oz=Zxdael Zeldl(&e) 10,000
= 6,500
Ea 3,500
st xg2el (X)) 208,132 280,990 AT2,858
101 e124d| 106,932 103,590 3,342
04 JIZtN2 2N S 2+ 106,932 103,590 3,342




A =XNS
M NRSUSSEX U MENHE
el MEAE 2E2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0S4z |SXI2el(2H01)
1670813 x23| x4 2 x4 H <2000 2 106,932
201 er2 3| 16,200 21,400 26,200
01 AtR2te|HI 5,200 8,400 23,200
ostdd Ba+H 1,200
ox2ES 7¢ 500,000 *20H A 1,000
oStz 2288 7Y 1,000
O0ld= 3| 2,000
02 S3=gl 10,000 13,000 A3,000
OBJANE FXNE= 10,000
401 Al HIZ R 0HbI 86,000 156,000 70,000
01 AlZ8| 86,000 156,000 A70,000
oS4tz H3a B2 50,000
OS¢tz Zdl 30,000
OZEdlicl HHEH EH 6,000
TELM(FEY) 2AZH HOSE 115,590 94,412 21,178
101 @12A4H| 111,590 86,012 25,578
04 JIZtN2 2N S 2+ 111,590 86,012 25,578
OFELY WSSH 2| 111,590
OJlzs 2,006,270%+6.53 +7 95,381
Odxt=g 80,2403 6L +7H 3,371
@ZIN == Y= 12,838
201 Zet=Ehl 4,000 8,400 24,400
01 AtR2t2lHI 4,000 8,400 A4,400
O=xYy WSSH 24| 4,000
TELM(EZY) =XHE ZEAM (KA 548,000 300,000 248,000
201 et 3| 3,000 0 3,000
01 At2t2l] 3,000 0 3,000
OTEMZLY) =i & 29 3,000
401 Al HIZL 201 545,000 300,000 245,000
01 Al&H| 545,000 300,000 245,000
OTEMELY) FiHE =4 545,000
LEHEHE 1,202,767 1,221,601 18,834
= 743,274
S 117,578
= 341,915
A THOH L Kt ZDI(MHHNSHE L) (F4) 252,800 149,400 103,400
= 126,400
< 37,920
[Ea 88,480
101 e124d| 231,887 129,385 102,502
= 115,944
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A =XNS
. MESLEEd & AR
=Rl MEHMNS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 34,783
s 81,160
03 SRH(RINAHA) 222+ 70,000 68,000 2,000
OOIZ LI 124d](2) 70,000
= 35,000
< 10,500
[Ea 24,500
M ORINZZENSE S 161,887 61,385 100,502
oJlzs 2,096,270 «8& +8Y 134,162
= 67,081
< 20,124
[Ea 46,957
O%xt=g 80,2407 x8H +83] 5,136
= 2,568
== 77
[Ea 1,797
o4l 28 139,298,000 *13% 18,109
= 9,09
== 2,716
[Ea 6,338
OEsd% S U=Hl
200,000 ~8& 1,600
= 800
[ 240
Ea 560
OBiXIE AHZ2&H| 60,0002 «8% 480
= 240
S 72
[Ea 168
ONZ LA W=y 300,000 84 2,400
= 1,200
== 360
[Ea 840
201 er23| 11,913 11,015 898
= 5,9%
== 1,787
o 4,170
01 At22t2lt] 6,913 6.015 898
OWZLAN Rgelaz & 2l
350,000& x 122 4,200
= 2,100
== 630
o 1,470
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A SIS 0
HY: MASASIET L MEHBH
=Rl MEHMNS (CH9: &S1)
- & - SI(E) - NIRAY - BAS A HIDE2
01 TR ESF SHI 3,660 4,936 N1,276
OWZZN LHIIAH S 3,660
= 1,830
= 550
T 1,280
ALRHASE 2R 506,797 600, 153 A93,35%
= 372,921
= 39,856
T 9,020
401 Al HIZL S 0HYI 506,797 600, 153 N93,35%
= 372,921
S 39,8%
ia 94,020
01 AlZHI 466,797 530,153 A63,35%6
OLlIHIARE 2HRI(1,9502) 196,136
= 137,295
= 17,345
[Ea 41,49
OALIR THESY ML 3=AH50ha) 142,707
= 118,028
= 7,404
= 17,275
OAURTHEEE &5 HMelS +=&(3,0000H2
) 87,954
= 61,598
= 7,907
i 18,449
OALIRIHESE ZH| 40,000
= 28,000
= 3,600
o 8,400
02 Zteltl 40,000 70,000 230,000
OALIRMHEEE Zell 40,000
= 28,000
= 3,600
o 8,400
gRH0IsHs = 22 47,640 46,900 740
= 23,820
= 7,146
[Ea 16,674
101 e124d| 39,772 39,107 665
= 19,886
= 5,966
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A SASE
M NRSUSSEX Y MEHEH
=Rl MEHMNS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 13,920
04 JIZtNZ22 XS 2+ 39,772 39,107 665
ORH0IS &3 39,772
OoJlzs 2,096,270 ~8& 2 33,541
= 16,770
= 5,031
o 11,740
Ogxt=g 80,2402 x2H 73] 1,124
= 562
= 169
[Ea 393
o4l 282 34,663,680 *13% 4,507
= 2,254
< 676
2 1,577
OB RE S W=y
300,000 x2&H 600
= 300
S 0
o 210
201 et 3| 7,868 7,793 75
= 3,934
= 1,180
o 2,754
01 AtR2t2|HI 7,868 7,793 75
O0lsEHE=x4 22l S 6,868
= 3,434
= 1,030
[Ea 2,404
OHNEHES S 78l 1,000
= 500
= 150
o 350
LetHN S 2 A 179,194 365,512 A176,318
= 124,172
= 16,433
= 38,589
401 AlEHIZ S 0HYI 179,194 355,512 176,318
= 124,172
< 16,433
s 38,589
01 Al&H| 169,194 335,512 A 166,318
OZYHANLE LIRFAH(T75ha) 168,270
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M NRSUSSEX Y MEHEH
Rl MEYIMNE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 116,690
=S 15,400
s 36,180
©OJIEtoH = (5ha) 924
= 482
= 133
o 309
02 2/l 10,000 20,000 10,000
ozl 10,000
= 7,000
= 900
o 2,100
o2 YRS LH) 146,376 0 146,376
= 94,131
= 15,673
o 36,572
402 2I2F X201 & 146,376 0 146,376
= 94,131
= 15,673
o 36,572
03 2IZ+RAETAIZ I 146,376 0 146,376
OAUPMEEYE LU SR (Pha) 92,830
= 67,358
= 7,642
= 17,830
OgURHE A3 LKI(170na) 53,546
= 26,773
= 8,031
= 18,742
SEE 3,468,507 3,651,149 A182,642
= 361,275
S 164,315
= 2,942,917
SrETHGH Xt EDI(AES X201 & SHTH) 806,261 787,775 18,486
= 320,125
[ 145,791
Ea 340,345
101 @124H| 781,876 763,390 18,486
= 310,371
s 141,402
s 330,103
04 JIZtN2Z2 XS E+ 781,876 763,390 18,486
OMEX 20 A 3HH 781,876
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M NRSULSEX Y MEHEH
Rl MEYX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oJlzs 2,096, 2703 7 E+32H 469,565
= 187,842
= 84,513
2 197,210
Oetxtrg 80, 24021572 x30 2 17,974
2 7,190
= 3,23
z 7,540
OAIZIRIRR 4
10,0303 »1.5+x8 Al 2H+352d +32H 134,804
= 53,926
< 24,262
Ea 56,616
Ooul =l 27,725
= 11,091
< 4,990
[Ea 11,644
Oustl & 28+¢ 48,216
= 19,288
== 8,678
[Ea 20,250
o4t 282 83,592
= 31,034
== 16,724
o 36,834
201 er2 3| 24,385 24,385 0
= 9,7%4
== 4,389
o 10,242
01 At22t2l] 9,000 9,000 0
ougdstl AT R ARE 2 5,000
= 2,000
= 900
o 2,100
OL=LRXNZEH 2285 7Y 4,000
= 1,600
= 720
o 1,680
2 S22l 15,385 15,385 0
ougdst 284l S 5,385
= 2,154
= 969
o 2,262
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A =XNS
M MRUEURSET L NN
&Rl AES Y (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 39,231 21,931 17,300
= 15,698
== 7,07
[Ea 16,462
01 At22telt] 19,531 19,531 0
Ott=tHER 2g(S4H S) 4,103
= 1,641
=S 41
s 1,721
OJHI X SHEH] 15,428
= 6,177
=S 2,784
s 6,467
02 35244l 19,700 2,400 17,300
ORAZAIDMCt B2 S 8,000
= 3,200
=S 1,440
s 3,360
OM=2E R MEHH(FFH S) 11,700
= 4,680
=S 2,106
s 4,914
202 04| 3,400 3,400 0
= 1,360
= 612
o 1,428
01 2K 3,400 3,400 0
OL=LANUHESR = ol 3,400
= 1,360
= 612
Ea 1,428
405 AtatE=H 2,400 0 2,400
= 960
= 432
Ea 1,008
01 ML ESFSHI 2,400 0 2,400
oFUE &I 2,400
= 960
= 432
= 1,008
AHES X CHEH (RH2) 57,829 37,329 20,500
= 23,132
= 10,409




A SASE
M NRSULSEX Y MEHEH
Rl MEYX EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 24,288
201 er23y| 11,829 11,829 0
= 4,732
= 2,129
= 4,968
2 s5=34l 11,829 11,829 0
OtEaE ZTAIAE SAZ(910H) 11,829
= 4,732
& 2,129
= 4,968
401 Al HIZ S 0HbI 46,000 25,500 20,500
= 18,400
< 8,280
s 19,320
01 Al&H| 46,000 25,500 20,500
OLEZAIIIICH BHMSAH S 30,000
= 12,000
< 5,400
[Ea 12,600
OJN= S& 7,500
= 3,000
== 1,350
[Ea 3,180
OJAHIB AAE 8,500
= 3,400
== 1,530
o 3,570
AEH2oF LB ZEAY 1,081,894 1,665,165 AB83,271
= 169,000
= 912,8%4
S A2 RX2tel 342,427 84,044 258,383
101 @124H| 54,327 53,014 1,313
MU IIRIMZZENSES 54,327 53,014 1,313
OgEZ AR 2| 224+ e8| 54,327
oJlzs 2,096,270« 11&+2& 46,118
Odxt=g 80,2403 102 #2H 1,605
odtiEg= 47,722,740 % 13% 6,204
OgrdeEAze|HI (et &H], Al §)
200,000 x2&H 400
201 ger=3| 34,100 31,030 3,070
01 AtR2te|H] 16,800 16,800 0
OTAZ B2 7L (SEX, LM S)
500,000 * 122 6,000
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXYE T3 % 225 1A
600,000 * 122 7,200
CELIETIRSE R
300,000& * 128 3,600
02 s3=gHl 17,300 14,230 3,070
OZZAIEE8 AEsX2eltl
300,000 * 122 3,600
03323 % MAI(AI], sS4, =5 5)
650,000 * 12 7,800
oYzl 500
O2=Hel AEHES 450,000 123 5,400
401 AlEHIZ SO 230,000 230,000
01 Al&HI 230,000 230,000
O AIZ 0r2l =B A4 EH| 20,000
Od=T UYSA 300, 0002 *300m 90,000
OTA2 RF2A dH =4 120,000
405 AtatE = 24,000 24,000
01 Tt =S F=HI 24,000 24,000
ORAUAHUWAEI |
21,000,000 = 1CH 21,000
OOHIOI =X 2Rt
1,000,000 +3KIE 3,000
NHAFeE Tdze|(HEAY) 260,000 1,000,000 740,000
= 169,000
o 91,000
401 Al HIZ R 0HHI 260,000 1,000,000 AT740,000
== 169,000
o 91,000
01 Al&HI 260,000 989,500 AT729,500
OXZLHEILAL () 247,000
< 160,550
s 86,450
OFZE &A1l 13,000
= 8,450
Ea 4,550
Adsey 4 - 2g2L 479,467 581,121 A101,6%4
101 ©1AH| 249,457 188,441 91,016
04 JIZtN2Z2 XS E+ 249,457 188,441 91,016
0LN8Z2E sy 22 234,617
OJlZ=s 2,096,270« 128 +6Y 150,932
Odxt=& 80,2403 x 112 +6% 5,296
OAleI22+E
10,0303 *1.5+8A| 2H+52F=+6EH 37,553
O4tiEs= 193,779,600 *13% 25,192
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A =XNS
M VRUEURSST L NN
CI9l: MERSEYTI EEAY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(OFSPNEE FEIDN 160,000 «7CH 1,050
oge& 200,000 *7TH 1,400
O 600,000 *7CH 4,200
O&FATI 200,000 *1CH 200
02 =A bl 3,000 0 3,000
O=0|0el=A2 TA 28 3,000
SHE THOH X 371,138 451,761 /80,623
= 28,657
< 13,088
= 329,393
APAREH Ol 2E K12 (KA 301,420 314,021 212,601
201 er23| 9,200 9,200 0
01 At2tltl 9,200 9,200 0
OAAENI LRI R E I BHA
100,000 6 »23] 1,200
OMHAFESHA S FHEX=
1,000,000 «8& 8,000
308 XXM SOIH 180,220 192,821 12,601
07 AX 2L FE= 180,220 192,821 212,601
OAtZ AL 180,220
OAZEHE (1km) 17,438
OAHE(7IHA) 157,500
OATZE 2te| 1,890
OAIZAY EotEZaH 3,392
401 AlEHIZL S0 112,000 112,000
01 Al&H| 112,000 112,000
OAFZAIE X EXI124¢ 10,000
OMNFAER 5,8 § =8 2,000
OLIALEY AE XIS EHIALY 100,000
AHTHOHZ Kt SHOI(AAMEH S ZHOI 2 E) 62,018 61,140 878
= 24,807
= 11,163
o 26,048
101 212A4H| 49,852 48,974 878
= 19,941
= 8,973
o 20,938
MU IIRIMZZENSES 49,852 48,974 878
OLAIEI S Z 0l 49,352
oJlzs 41,217
= 16,487
= 7,419
[Ea 17,311
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O¢ R 80,2403 x5 x4H 1,605
642
289
674
43,530,200 *15% 6,530
2,612
1,175
2,743
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HH W

O4th 2

0o
3l
HoHW
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10
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2,190
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©

2teldl 10,166 10,166 0
F XHIHCH 200

10

4>
OII

HoH A
&

OIU X clA E 22l 9,966
3,986
1,794
4,186
02 S3=2g4l 2,000 2,000 0
ZUEIE 7= 2,000

800
360
840

MW

MW

APATEHER M A XIS AEHZAL 7,700 49,000 241,300
3,850
1,925
1,925

MW

401 AIEHIZL R OHYI 7,700 49,000 A41,300
3,850
1,925
1,925

MW

01 AlZH| 7,700 49,000 A41,300
OALTAIEN S M LA XS A EHZAL 7,700
3,850
1,925
1,925

Mo W
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A =XNS
M NRSULSEX Y MEHEH
el S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Sz 1,330,222 4,613,812 A3,283,590
= 87,740
= 1,242,482
CAIBSEF 2] 707,058 1,439,684 NT732,626
101 @124H| 364,848 346,474 8,374
04 JIZtNZ22 NS+ 354,848 346,474 8,374
O A& 2 22X 21AH| 325,961
OoJlzs 2,006,270 x11& 12 276,708
Odxt=g 80,2402 x10€« 12 9,629
@ZIN -h=¥=3 286,336,440 *13% 37,224
OFBABY (25T S)
200,000 %12 2,400
O ASE LAIMS 22X 22|
80,2403 »0 L x4H 28,887
201 el 114,710 117,710 23,000
01 At2telt] 38,150 41,180 /3,000
OSFAEZ U (SEA, LM, NENS)
700,008 128} 8,400
ONYTT U ADE 7Y
1,500,0002 122 18,000
oYxt= (ZHIYX) 950,000& +5< 4,750
O3RN Hl S = 1,000
Oblare 28x] 33 /I
500,000 x 122 6,000
02 S3=gHl 76,560 76,560 0
03323 % MAM(XI, 84,2+ 5) 30,000
(©Jul=d:] 3,600
OZJAES ANEEHIKXH
2,000,000& ~12& 24,000
OB EZ+HE FANE=>
250,000 x 122 3,000
OrgrrAdetsd W=
1,330,000& «12& 15,960
203 HR=H] 500 500
03 A=A RN 500 500
O ASHE 2| AP RFAY] 500
206 M=l 75,000 75,000
01 MZH| 75,000 75,000
OZAIEE =3t7 7Y 40,000
OAMUXZE =515 + 35,000
401 AIEHIZ SR 0HYI 160,000 900,000 740,000
01 Al&H| 160,000 900,000 AT740,000
OEdEd a4 c|22d SA
50,000,000& *10H 2~ 50,000
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2A:
X XH -
o e

=aak

& 300 0

02 rfo
M &

0 X o
0 08 >

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZA=E Pz Ha
400,000 *125m 50,000
O=AZE ==A4E S EHl 50,000
O=AEE 23JI17 £X
2,000,000 #5CH 10,000
405 AHAHE S 2,000 2,000
01 AL =S F = 2,000 2,000
TAIBE IIAFHI(E30] S) 7Y
500,000 =4CH 2,000
AR AR K2 67,120 51,440 15,680
101 @12A4H| 40,120 39,440 680
04 JIZtNZ22 XS 2+ 40,120 39,440 680
OSII AL QI (404E, 5IH)
80,240 x50« 10 40,120
201 2egr=3| 17,000 12,000 5,000
01 At22t2ltl 9,000 9,000 0
OXYATT U ADE £ 7Y
1,000,000 #4042 4,000
oY= (3t 8)
2,500,000 *20H 2= 5,000
02 S3=gHl 8,000 3,000 5,000
OANEE 212 =4
600,000 *50H A 3,000
o038k= S 1,000,000 #5042 5,000
401 AlEHIZ 201 10,000 10,000
01 Al&H| 10,000 10,000
OXAZdSRX e 3l 10,000
CEEARA2 175,480 525,480 /350,000
s 87,740
s 87,740
101 21AH| 34,786 34,090 696
< 17,393
[Ea 17,393
M ORINZZ2NSE S 34,786 34,090 6%
ocg3&2IA(1Y) 34,786
oJlza 2,096, 2703~ 11318 23,059
= 11,530
Ea 11,529
Odxt=& 80,2402 x10E 1Y 803
== 401
o 402
o4t 282 23,861,370 *13% 3,102
= 1,551
= 1,551




A =XNS
M NRSULSEX Y MEHEH
Chel: Zep?l (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
@] 200,000& 122 400
= 200
= 200
OS2t 100,000 *1&x22| 200
=S 100
s 100
O&dS2el SIIAS Q12|
80,2403 18 +00 7,222
= 3,611
= 3,611
201 fer23| 35,214 36,910 NGl s
= 17,607
o 17,607
01 AtR2tc|HI 10,200 13,200 A3,000
03I BE PYU(SHN S)
450,000 123 5,400
& 2,700
Ea 2,700
OHYE =7, 225 WAl
400,000 12& 4,800
= 2,400
Ea 2,400
02 S3=gHl 25,014 22,710 2,304
OTYBH 24xzl B
800,000& * 122 9,600
[ 4,800
T 4,800
03323 % NAI(&I], sS4, +=5,28)
1,200,000& 122 14,400
= 7,200
[Ea 7,200
(©fak=dx] 300
== 150
[Ea 150
OZEANE 472 =4 714
= 357
= 357
401 AIZHIX S0 105,480 455,480 /350,000
=S 52,740
s 52,740
01 A28l 105,480 455,480 A350,000
ogg=z S FHl 105,480
< 52,740
[Ea 52,740




A =XNS
M NRSULSEX Y MEHEH
Chel: Zep?l (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEZR A2l (XA) 25,000 25,000
308 XXM SOIA 25,000 25,000
07 AX R FE= 25,000 25,000
OFesd 243t JIZ2HE 89 25,000
oSS EMNY BHY EXNZ 100,000 200,000 100,000
401 AIZHIX S THE 100,000 200,000 100,000
01 A28l 100,000 200,000 100,000
OEMZE ZHAY HUEX B4
500,000 x200m" 100,000
gE3d RA2| 180,300 0 180,300
201 Ler23 | 30,300 30,300
01 At2t2ltl 14,300 14,300
OTFAUEE P (X, LN, NEH S)
500,000 «8& 4,000
oXgE7 & ARFE FY
500,000 ~8& 4,000
OJIAH, I S a7 =4H|
1,500,0002 *12] 1,500
OATAE &8 S ?IE
600,000 ~8& 4,800
02 S3=4gl 16,000 0 16,000
OSHAIE FAl2c 1,000,000« 8,000
0332= € MAI(HI], =5, 22 S)
1,000,000 «8Z 8,000
401 AlEHIZL SO 150,000 150,000
01 Al&HI 150,000 150,000
OrYE =z IEXE =4 150,000
020128 =018 2l 55,264 30,508 24,756
101 @12A4H| 27,164 26,508 656
MU IIRINZZE2NSES 27,164 26,508 656
OO0Bl0I2E=0I8 2c2|& 212b] 27,164
OoJlzs 2,096,270« 11&*1d 23,059
Odxt=g 80,240 102 +1H 803
o4l 28 23,861,370 *13% 3,102
OgrdeEA e H (et EH], Al §)
200,000& %1 200
201 fer= 3| 18,100 4,000 14,100
01 At 2|l 16,000 2,000 14,000
O0E0I=0IAE EE fIE
1,000,000& «12& 12,000
ORIINE & 1,000,000 12 1,000
O=0] - RIIANE WM 225 7 1,500
O0gl0l=0Ie 2l &%
500,000 * 13|31 2 1,500
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A =XNS
M NRSULSEX Y MEHEH
Chel: Zep?l (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 2,100 2,000 100
O=0l - RIIANE 272 =H
300,0003 *7IH A 2,100
401 AIEHIX R0 10,000 0 10,000
01 A28l 10,000 0 10,000
OO0I2l0l=0IAE 2FHA 10,000
2atat e Jlgterd x4 20,000 0 20,000
401 AIEHIZ SR 0HYI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
Ogstet &H Jlegtetd x4 Bl 89 20,000
FZ2E3I(=0323) 63,708 65,672 A1,964
J23HI(=X381) 63,708 65,672 1,964
HY B 4,200 3,600 600
203 =4l 4,200 3,600 600
04 PAE2EYERFAH 4,200 3,600 600
OFMEIE =T
350,000 * 122 4,200
1] 40,800 36,000 4,800
202 04l 40,800 36,000 4,800
01 SLHoIH 40,800 36,000 4,800
O=LHxHI 40,800
2=l 18,708 26,072 NT,364
201 fer23y| 18,708 20,072 1,364
01 AtR2t2lHI 17,508 18,072 Ab64
Odgt+=H| 12,000
@)=zl 9,000 x17H*34!x 122 5,508
2 35244l 1,200 2,000 A800
OR NSl At=2el 1,200




